



































































































 

Let IT 91,92993 94

Ua T 41121 4213 a 1

Us IT Uz A 42131 4 a

T uz 1 43 2 3

My T 0 beᵈ
to indivianan at I
a 1 0 so 1 is at least as good as beingalone

this also handles 2 s care which

needed a 4

so we have for it to bi IR

For It to be rash stable we want to stop
at from joining an which would give a a a utility of 2

i 21 a 1 or 1 31

But to stop an from joining the rest of them
we need

utility
a or 1221 1

g.fifra.az9s
I so

Both He and not possible
There is No α for which IT is NashStable






































































































For IT to be in the core we need to rule out

blocking coalitions

a an is blocking for 223 To see why

aa's utility un a a I Ibe non blocking

an's utility 2 0 ay's utilityunder IT

a 92,943 is blocking for 274

9 s new ulity 22 9,42
d ulitily

need α 4 to be non blocking

1312 1 IT is in the core






































































































Let IT be the coalition structure that maximises social welfare
Then we will show that is nash stable f snI

Let it be the coalition structure formed by player I
moving

Let 1T 51 Sm without loss of generality assume
i Esa in 7T

i ES in 17at
Itilitydotheset

SWCI is.lt Is II p info
S save3 Is say

c if

Now u Se u i u 51193 forany e5,193 pluginto

u S2U i u i u sa jess pluginto

As a jujlil.is
ff swY fi1sa

a save3 Is Iiii Bysymmetry

the o
u sa u SUE3

mizes 2 me S1 u sausis

5 are i switched because
u 520213 UICS

so this is 2a negativenumberCONTRADICTION






































































































Think of what this statement really means
I can come up with a network such that no one ever wants to stay
in any relationship

undirected

First relax this need for the undirected symmetry Is this problem then easy
What comes to your mind when you read the bit in blue

This gameshowsup in hollywoodmovies novels college campuses It's everywhere

Answer A LOVETriangle
A diret

we have Alice Bob Charlie

yayThey resent the ideaof all beingtogether in re

in a 3 may marriage They'drather bealone B e
But they'd rather be with someone

BCblockedbyABthan alone
AB blockedbyAC

They have a cyclic love AC blocked by BC

Alice loves Bobmore then Charlie That'smy hot woodscript
Bobloves Charlie more than Alice make it into a graph
Charlie loves Alicemovethen Bod

Now this doesn't work

Expressed just a hedonic I had the right idea but
game this works this graph is too rigid
But fails for additive Not enough ways to

label things






































































































Lift up Add more players

Make new world where

4 mar relationship is AWFUL
3 mar better than 2 better than I

Use love Δ idea

obsene Noone wants to bealone

Any coalitionof 2 is blockedby some
coalitionof size

The core is Empty AB BC blocked by ABC
CD DE CDE

AF FE AFE
ACCE AE ACE

No coalition 14 is in Nocoalition of
Bny's ftp.core

core ABC blocked

c gets9 c gets 10

DE get 00 D E get 60

Similarly

CED blocked A
Eaten

off

AFE blocked by ABC






































































































The first claim is true
Let S be the output of Gale Shapley regardless ofwhich groupproposes

Let Gow S Then x is w's bestandworst valid partner
Likewise w is a's

since S is the output regardless ofmenproposing
or womenproposing

If you have more than 1 stablematching
Then there cannot be apair that is both bestand worst
For example Assume Saf S

x w S if w is bestpartnerthen w will beworst

but xwY S when men are rejectorsl
fnestable contradictions
matching

Fix desiredoutcome A X W Y F W D A FREE
Playone sidemaking
sure each player gets off D B C A

Y A C D Bknocked out once
D Y 3 w 3 C D FRE

C needs to knock A B knocks C

D needs to knockB C knocks D

aw

lot knocks y
ing XDXDYA WA NC ZP XB o Y knocks

3knoc






































































































Hint Try knocking
everyone off

I

L their tint
A C B preference

Create cycles
M 2 3 Output S on

Ye FA xa.fzc.XA.IT s
Output s on I

FAC

f f
thesa.me


